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Example Two identical blocks of weight W are supported by a rod inclined at 45° with
the horizontal az shown in Fig. 9.7.

Fig.
If both the blocks are in limiting equilibrium, find the coefficlent of friction (W), assuming it
to be the same at floor as vell as at wall.

Solulion. Given; Weight of blocks A4 and B= W and inclination of rod with the horizontal
(o) = 45",

Let 1 — Coctfficient of friction, and
[ = Length of the rod.

The forces acting on hoth the hlocks are shown in Fig.

Resolving the forees vertically.

F.% E‘_r: W
or uR, i R_Ir=1W el Fo=pR ). A0)
and now resolving the forces horizontally.
R =F,=uR, i)
Now substituting this valve of R in equation (7).
Bk + R_I-= 2w

W R +R, =2W
RJr ”_ll | ]}=:W
W

R, - e A
u+1
and now substituting this value of R, in equation (if).
2w
‘Ew =R X— )
T 2
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Taking moments of the forces about the block A and equating the same,
R xlcosd5" +F xlcos45" =W xlcos45”

R +F =W
or R +pR =W
R (l+p)=W
Substituting the value of R, from equation (iv).
p):EW{l+u.}:W
u-+1
or u(l+p)=pi+1

u+2pi=pt + 1
W+ 2u—-1=0
Solving it as quadratic equation for .
—244/(2)
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B= - Ans.
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